MOLTIPLICAZIONI IN COLONNA

Metti in colonna e calcola:

12x5-=
13 x 6 =
14 x 4 =
16 x 3 =
15 x5 =
17 x 2 =
12x6 =
13x5=
14 x 3 =
18 x 2 =
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MOLTIPLICAZIONI IN COLONNA

Metti in colonna e calcola:

12 x 7=

13x4-=

14 x5 =

15x 3=

16 x 2 =

17 x 3 =

18 x4 =

15 x 2=

19 x4-=

24 x 3 =
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MOLTIPLICAZIONI IN COLONNA

Metti in colonna e calcola: .
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16 x 4 = oty |
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19 x 2= : @
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25 x 2 = O
18 x 3 = 4 &
16 x 5 = ..”'
15 x4-=

26 x 2 = f

39x 2= | ‘
N
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MOLTIPLICAZIONI IN COLONNA

Metti in colonna e calcola:

24 x2 =
25x 3=
29x2-=
26 x 3 =
38x2-=
27 x 2=
34x2-=
28 x 2=
35x2-=
18 x 3 =

X X
da| u da| u da| u
X X




MOLTIPLICAZIONI IN COLONNA

Metti in colonna e calcola:

38 x2 =

21 x3
12 x6
13 x6

17 x 4 =
14 x5 =
16 x5 =
18 x 4 =
19 x 3 =
14 x4 =

X X
da| u da| u da| u
X X




MOLTIPLICAZIONI IN COLONNA

Metti in colonna e calcola:

29x2-=
36 x2 =
35x2-=
12 x 4 =
13x 2=
40x 2 =

11x7

15 x5 =
32 x 3=
14 x 3 =

da| u da| u da| u
X X

da| u da| u da| u
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MOLTIPLICAZIONI IN COLONNA

Metti in colonna e calcola:

12 x5

19 x4 =

17 x5

26 x 3=
38 x2 =
16 x 2 =

18 x 3

34x2-=
29x2-=

11x6

u
X X

da| u da| u da| u
X X
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